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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
709 —o— PHI
6.8 1
6.6
@ @ @ @ @ @ @ @ @
6.4
6.2
Warning\ col ['PHC’, 'FVIPH ] is missing
6.0
0 5 10 15 20 25




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-10

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:00 190 50. 0 RS 1Ri%@07:00 Fzi (REAEESE)
08:00 190 50.0 |&=| {Ri%@08:00 Fz (KPBERE)
09:00 190 50.0 FA| {RRi&@09:00 Fzh (kA{EEEE)
10:00 190 50.0 FH| 1RRi%@10:00 F3 (KAEREE)
11:00 190 50.0 RS Ri%e11:00 Fz1 (REAEESR)
12:00 190 50.0 RS {Rige12:00 Fzf (REERE)
13:20 190 50.0 B 1Rige13:20 Fzh (REEZESE)
14:45 190 50. 0 BS| 1Ri%e14:45 Fzh GREAMERSE)
23t+]1520.0 (8%) 400.0 3 WF&KEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (124.0 :

PRIASLPRIEBE89. 0 ml.

89.0), AIREAT—AE XAHE
LRGEREE (190) 57148 (106. 0) FF, FIREH T & MREEIRS £ XER

REREBIEC (2600.0) 5i&7EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=24 (2025-04-26)
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690 [ Al T

530 34
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-10

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:05 240 60.0 AE| 1Ri&e07:05 Fzf (REERSR)
08:05 240 60. 0 5| {BRiZ@08:05 Fz (FPMERE)
09:05 240 60. 0 S| 1Ri&e09:05 Fzh (FEERESE)
10:05 240 60. 0 RS 1Ri&e10:05 Fzf (REERS)
11:35 240 60.0 BE| 1BRi&e11:35 F3) (REERSE)
13:15 240 60. 0 | Ri%@13:15 Fzi1 (REEESE)
14:45 240 60.0 BE| Rige14:45 Fz (REAEHE)
249t]1680.0 (70%) 420.0 ZHKEC: 2080.0, PH: 6.0

TEREHLER 2 STEEARTF (156.0 :

ZRIASERRIERE113.0 ml.

113.0), AlEEHT—@ L XA HS
LRGERRETC (240) 5748 (128. 0) FF, FIREHI T & MAEEIRS %2 XER

REREEBIEC (2580.0) Hi&EEC (2000.0) REIK, IBHE




FRV (ml plant-1)

P3-10_0, Day=23 (2025-04-25)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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.0 666

m=515, FV0=0
24 - —o— ME
22. 25 A
22.00 A
23
° 21.75 -
22 21. 50 A
21. 25 A
21
—— ME 21.00 A
T T T T T T T T
500 600 700 800 900 515 520 525
m=725,m FV0=0 m=785,m FV0=0
1.0
—&— ME
23. 4 A
0.8 4 3
0.6 - 23. 2 A
0.4 23.0 4
0.2+
Warning: col ['M_E’] missing 22.8 4
0. 0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 785 790 795
m=515, FV0=0 m=605,m FV0=0
1.0
311 —o— MW
0. 8 1
30 A
0.6 -
29 -
0.4 -
28
0.2 A
97 - Warning: col "MW ] missing
T T T O- 0 T T T T
515 520 525 0.0 0.2 0.4 0.6 0.8 1
m=785,m FV0=0 m=845, FV0=0
32.5
—o— MW —— M
32.0 ~
32.0 A
31.5 1
31.5 1
31.0 A
31.0 -
30. 5 A
30. 5 A
30- 0 T T T T T T
785 790 795 845 850 855

m=605, FV0=0

Warning: col ['M_E'] missing
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0.4 0.6 0.8

m=845, FV0=0
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29.5 T 1
670 672
m

668

674

m=665, FV0=0
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Warning: col "MW ] missing

0.0
0.

0 0.2 0.4 0.6

0.8 1.

0



